G| RS E | ETE AHTE TIH PN Hortk
110 106 3| — -~ HEB ARG 56l 62.22
110 106 3| —~ WHEBTIARE (BFER=Hh 51 91.07
110 106 3~ WHEMTIRHBUFERT (Erm 1 1.79
110 106 3| — ~ HREHAB TSR CEFEATL Y 0 0
110 106 3| — ~ HEB TR IS I 0 0
110 106 3| — ~ HEB TR AE 2 3.57
110 106 3| — -~ BHAB TR HE TEECHER 1 1.79
110 106 3|~ IRE IR EA 1 1.79
110 106 3| — ~ HE S THR/NGT 24| 26.67
110 106 3| — -~ EEV TR (EERES 18 75
110 106 3| — ~ IEE S THE{BURERFT (EfER 2 8.33
110 106 3| — ~ HE Y THRER (BRI 1 4.17
110 106 3| — ~ REE THEHIEE R 0 0
110 106 3| — ~ MREEVY THHAISE 1 4.17
110 106 3| — ~ EHEEV TR E B TEECESR 1 4.17
110 106 3| — ~ SEEy THE A 1 4.17
110 106 3| — ~ WHFEMRH/NET 0 0
110 106 3[— -~ EHHAIEE/NET 10 11.11
110 106 3=~ RS EIE/ NG 1 1.25
110 106 3| =~ MOREUER /et 6 7.5
110 106 3| =~ HONREE - BNET 2 2.5
110 106 3| = - SRR A N T 43| 53.75
110 106 3=~ BORRIARE R/ INET 6 1.5
110 106 3| = - E BRI/ NET 0 0
110 106 3| =~ SN ECTELEA N T 1 1.25
110 106 3| =~ EERREHL/NET 1 1.25
110 106 3| =~ SR/t 5 6.25
110 106 3| =~ MR FEACENET 1 1.25
110 106 3| =~ AT R/ N T 5 6.25
110 106 3| =~ SIABUTAIN/NGT 3 3.75
110 106 3=~ BOREE SN/ NG 2 2.5
110 106 3=~ BOR(E At /NET 2 2.5
110 106 3| =~ SRS/ Na T 2 2.5
110 106 3| =~ MR EDE -~ TA/NET 0 0
110 106 3= TIE /NET 36 45
110 106 3= EE &1 TAE 16|  44.44
110 106 3= EE 9207 TAE 15| 41.67
110 106 3= EE &30 TAE 4l 1111
110 106 3=~ EHE &4 TAE 1 2.78
110 106 3= EE 29513 TAEDLE 0 0
110 106 3= EE T AEHh B T (& 2 5.56
110 106 3=~ EHE TAEEE 71 19.44
110 106 3= TIE TAEELBRER M & 4 11.11
110 106 3=~ e e M ERE 9 25
110 106 3=~ ERE BB 1 2.78




110 106 3= - iR (] A LB AT 5 5 13.89
110 106 3=~ TS B[] \AAERZFTEEER 1 2.78
110 106 3=~ B 2UERERGRS 1 2.78
110 106 3= B o] 2R A B TAEL 0 0
110 106 3=~ 2 RIERZE 4 1111
110 106 3=~ IR Ho At 2 5.56
110 106 3= IR /NG 44 55
110 106 3[Y ~ FORLTHTE R /NG 1 1.25
110 106 3[Y -~ FORLTHT =R /NG 1 1.25
110 106 3[Y -~ FORLTHT =R /NG 6 7.5
110 106 3[Y ~ FORLTHT =R /NG 17| 21.25
110 106 3|Y ~ IRL T =R Na T 18 2.5
110 106 3[Y -~ FORLTHT =R /NG 17| 21.25
110 106 3[Y -~ FORLTHT =R /NG 8 10
110 106 3[Y -~ FORLTHT =R /NG 0 0
110 106 3[Y -~ FORLTHT =R /NG 2 2.5
110 106 3| ~ SN ATRTE RN T 2 2.5
110 106 3|~ S AT E RN T 1 1.25
110 106 3[Y -~ FORLTHT =R /NG 2 2.5
110 106 3[Y -~ FORLTHT =R /NG 2 2.5
110 106 3[Y -~ FORLTHT =R /NG 0 0
110 106 3[Y -~ FORLTHTE R /NG 0 0
110 106 3[Y -~ FORLTHT =R /NG 1 1.25
110 106 3[Y -~ FORLTHT =R /NG 0 0
110 106 3[Y -~ FORLTHT =R /NG 1 1.25
110 106 3[Y -~ FORL T E /NG 0 0
110 106 3[Y -~ FORL T =R/ NG 0 0
110 106 3[Y -~ FORL T =R/ NG 0 0
110 106 3[Y -~ FORL T =R/ NET 0 0
110 106 3[Y -~ FORL T E /NG 0 0
110 106 3[Y -~ FORL T =R/ NG 0 0
110 106 3[Y -~ FORL T =R/ NG 0 0
110 106 3[Y -~ FORL T =R/ NG 0 0
110 106 3[Y -~ FORL T =R/ NET 0 0
110 106 3[Y -~ FORL T =R/ NG 0 0
110 106 3[Y -~ FORL T E /NG 0 0
110 106 3[Y -~ FORL T E /NG 1 1.25
110 106 3|7~ EERPEA /Nt 79]  98.75
110 106 3|~ BEREN HFEN 0 0
110 106 3|~ BEREN Bk 4 5.06
110 106 3|7~ SEMEA =ZIbh 4 5.06
110 106 3|7~ BEREN PRET 9 11.39
110 106 3|~ BEREN BrThA 1 1.27
110 106 3|~ FBHEA ¥ 0 0
110 106 3|~ BEREN A 0 0
110 106 3|7~ EERIEA ZH 15 18.99




110 106 3|74~ SBMEA BT EA 1 1.27
110 106 3|4~ SBMEA ALk 2 2.53
110 106 3|4~ SBMENA TR 2 2.53
110 106 3|4~ SBMEA e 2 2.53
110 106 3|4~ SBMEA 25T 1 1.27
110 106 3|7~ BERPEN At 16]  20.25
110 106 3|7~ BERPEN T 19]  24.05
110 106 3|4~ SBMEA [ AR 3 3.8
110 106 3|~ BEMIEN el 0 0
110 106 3|7~ EMEA {EER% 0 0
110 106 3|~ BEMIEN H A 0 0
110 106 3|7~ BERPEN HT R 0 0
110 106 3|~ BEMIEN oA 0 0
110 106 3|~ BEMIEN B 0 0
110 106 3|7~ SRS 0 GA/NET 1 1.25
110 106 3|~ BEMIESD > GRIEN (& ~ JEPT 0 0
110 106 3|F -~ BEMIESD > GRIEN (& ~ JEFT 0 0
110 106 3|7~ BERIEAL - GRAOEM 1 100
110 106 3|7~ BERESL - GRIEM 0 0
110 106 3|7~ FERESL - GHECM 0 0
110 106 3|7~ FERESL - GRIESEM 0 0
110 106 3|7~ BERESL - GRREM 0 0
110 106 3|7~ FERESL - GRREEM 0 0
110 106 35~ H#EEE /e 1 10
110 106 318~ HARE I/ NT 0 0
110 106 3175~ IEEPEEHFE SN 7 70
110 106 375~ IR EEEE S B A SR P 0 0
110 106 3175~ EEPEEHFE S EEE 0 0
110 106 3|os e EmEsEE | 1| 149
110 106 3175~ EEHFES A AR 6| 8571
110 106 3|75~ AR EE R R LA 0 0
110 106 375 - EEEER ARG 2 20
110 106 3N~ WHSHR TR S TIE# S 0 0
110 106 378~ MESROARH KA ME 0 0
110 106 378~ HFHR AR A M B EEIER 0 0
110 106 37~ EH=FHR A TEEA S 0 0
110 106 375~ I HFIR A BT A RT 1 50
110 106 37s - EHE R TR SR ANHIE 0 0
110 106 375~ BHFHRIIH T EANBS R RE 1 50
110 106 s HER T EM 0 0
110 106 3175~ EHEERIOEHGYUEA LA 1 50
110 106 378~ WHEHRTAALUEH DA E 2216 ] 50
110 106 37N~ H=ERTARL2(E H DA E 23 0 0
110 106 37N~ H=HRTARL3EH DL E F4{H 0 0
110 106 37N~ H=ERTARLIAE H DL E 2 6{[H 0 0
110 106 375~ R HERELY6ME A UL 0 0




110 106 3|75~ MREEA - RINET 0 0
110 106 3|~ MEBFEERT ST 5 6.25
110 106 3t WH|IGE /NG 26 3.5
110 106 3t~ B[ /NG 32 40)
110 106 31~ MBS [/Nat 11 13.75
110 106 3t~ H|FEEATH/ N 6 7.5
110 106 3N~ MHEZE /Net 10 12.5
110 106 3N~ WHARE /et 70 87.5
110 106 3L~ EIEE S/ NET 6 7.5
110 106 3L~ EHEE N 29] 3625
110 106 3L~ /Net 43| 53.75
110 106 3L HARME |/haT 1 1.25
110 106 3L~ B IEE AR/ NET 1 1.25
110 106 3+~ EEHIEES AT 5 6.25
110 106 3+~ WHEE /NaT 24 30
110 106 3|+~ MHEE /NeT 23] 28.75
110 106 3~ WEATE /NET 19]  23.75
110 106 3~ WHIEEATH/ET 9 11.25
110 106 3|~ MR NET 40l 2597
110 106 3| +— ~ MELEER /NG T 34 22.08
110 106 3| T— ~ ARANER/ T 19 12.34
110 106 3|~ ARSNESINET 24 1558
110 106 3| +— At EVES/NET 10 6.49
110 106 3| +— -~ ARESEE /NG 21 13.64
110 106 3| +— ~ ASHERE/NaT 1 0.65
110 106 3 — - AETHRE/NET 2 1.3
110 106 3~ AEESEVNET 2 1.3
110 106 3|~ BEAEINSENET 1 0.65
110 106 3+ AF /NaT 31]  38.75
110 106 3+~ AF HE 1 3.23
110 106 3+~ AF HEE BN KE 1 100
110 106 3+ AF HEE HEEE 0 0
110 106 3+ AF (e EE A B RS 30 96.77
110 106 3+ AF e S 6 20
110 106 3+~ AF B H il 58 6 20
110 106 3=~ AF (B B s AT 1 3.33
110 106 3=~ AF EEZ B ANES ] 3.33
110 106 3=~ AF HEZ R S ae g 14| 46.67
110 106 31—~ AFH e B ERERES 2 6.67
110 106 3+~ AF Ho At 0 0
110 106 3+ A4 /NGT 49]  61.25
110 106 3= - AFEEAEVINT 3 9.63
110 106 31 += ~ AEREEB/NGT 19]  61.29
110 106 3= AEE /NGT 8  25.81
110 106 3 += -~ AZHEE/NGT 1 3.23
110 106 3|1 += ~ A5EEZAI/NET 0 0




110 106 3|00~ RN 44 18.03
110 106 3P~ FrEEEE NG T 20 8.2
110 106 3-8 ~ W ABE G E/ et 41 16.8
110 106 3|00~ BEREE NG 19 7.79
110 106 3|00~ S| R REfE AN 43 17.62
110 106 3[4-PY ~ SAGETEE /et 11 4.51
110 106 3[40~ W TAESC )/ DNET 30 12.3
110 106 30U - BEEREHEINET 12 4.92
110 106 3| +PU ~ INEERE I/ NaT 22 9.02
110 106 3[4PT - SR EA /Net 2 0.82




